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Question Number : 1 Question Id : 54310712171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 2 Question Id : 54310712172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice CQuestion

Y fohdel gy Fr gidr 2l
Options:
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o el

3, g
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Question Number : 3 Question Id : 54310712173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

ggeT & 7Y g
Options:
. w

o ¥4

5 el

4 323

Question Number : 4 Question Id : 54310712174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

HeIUET T eArdt oreg

Options:
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Question Number : 5 Question Id : 54310712175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

ameaTioRs &1 faorandt oreg &1

Options:

. 3nfeHsh
o =TT

faaratr

=

Hifas

4.

Question Number : 6 Question Id : 54310712176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

a@i’r & FHET H Y G IraAT FAT FedTdar &2
Options:

, e

2 &¢
fSemeadr

=

, FTH @ HIS e

Question Number : 7 Question Id : 54310712177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

fader & gcuw &)

Options:

.
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Question Number : 8 Question Id : 54310712178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

ZET 937 & g fau T4 &7
Options:

E L
, @ 3t

_ @ & fore @

4a'€rmasr

Question Number : 9 Question Id : 54310712179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

CRfFd THES Ue H YIFd HATH &
Options:

Question Number : 10 Question Id : 54310712180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question
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Question Number : 11 Question 1d : 54310712181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

Tgafad Tuq TsT TA|' FHA FisT @ HeFR 82

Options:

1.

IYUHAT

Question Number : 12 Question Id : 54310712182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Hol il HaT 87

Options:

Question Number : 13 Question Id : 54310712183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
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Cnaestion Label - Multiple Choice Question

Ja9T &1 ITUNUT-EUTA 2|
Options:
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Godd

Hes
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Question Number : 14 Question Id : 54310712184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

EeT HiA-ar e &

Options:

4;#1:'—3%

Question Number : 15 Question Id : 54310712185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

TTaP B AT 7 B S oy SfHyd oeg Fam & ?

Options:

FfHfesa

1.

o FHIE

P UIEG

=
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Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

2
543107231
Yes

Question Number : 16 Question Id : 54310712186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choose the best option as synonym

Inadvertent

Options:

; lgnorant

> Unexpected

5 Unintentional

4 Undisturbed

Question Number : 17 Question Id : 54310712187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Choose the best option as Antonym i.e. word having the opposite meaning:

Testify

Options:

1 Falsify

- Evidence

- Prove

4 Confide

Question Number : 18 Question 1d : 54310712188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Choose the best option as Antonym i.e. word having the opposite meaning:

Acquit

Options:



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

1 Retreat

- Gonvict

3 Conceal

4 Deprive

Question Number : 19 Question Id : 54310712189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Fill in the Blank with appropriate Phrasal verb :

Could you

Options:
1 lurn

= Turn off

= Turn around

4 Turn over

the music while I'm on the phone?

Question Number : 20 Question Id : 54310712190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question

Fill in the Blank with appropriate Phrasal verb :

| don't

Options:

1 Get up

> Get over

2 Get on with

4 Getin

my new science teacher.

Question Number : 21 Question Id : 54310712191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Fill in the Blank with appropriate Preposition:

Ramesh is sitting the Laptop.



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:
1 Into

=3 To

= In front of

4. With

Question Number : 22 Question Id : 54310712192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Fill in the Blank with appropriate Preposition:
He takes Honour his great command in computer science.

Options:
, From

_ With
3. In

4 Without

Question Number : 23 Question 1d : 54310712193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question

Choose the word closest to the meaning of the phrase for the following :
At one's fingertips

Options:
, To take revenge

5 Matter of shame

5 Complete knowledge

A None of these

Question Number : 24 Question Id : 54310712194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
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Cnaestion Label - Multiple Choice Question
Choose the word closest to the meaning of the phrase for the following :

At the spur of the moment

Options:
1. Difficult Moment

> Without Delay
= Great Moment

4 Very Slow

Question Number : 25 Question 1d : 54310712195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Choose the word closest to the meaning of the phrase for the following :
All'in all

Options:
1 Every person

> Particular thing same in all

- Call all at once

4 Most important

Question Number : 26 Question 1d : 54310712196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Give one-word Substitute for the following:

A disease which spreads by contact:
Options:

) Incurable

- Infectious
- Contagious

4 Fatal
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Question Number : 27 Question Id : 54310712197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Give one-word Substitute for the following:
That which cannot be avoided.

Options:
1 Inevitable

- Irreparable

5 Incomparable

4 Indisputable

Question Number : 28 Question Id : 54310712198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cnaestion Label | Multiple Choice Question

Give one-word Substitute for the following:

An Independent person or body officially appointed to settle a dispute:
Options:

. Arbiter

> Mediator
- Agent provocateur

4 Arbitrator

Question Number : 29 Question Id : 54310712199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choose the correct answer out of the four alternatives given below:
What 71t wonderful.

Options:
, Is cooking. smell.

5 Is cooking. smelled.
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- are you cooking. smelt.

4, areyou cooking. smells.

Question Number : 30 Question Id : 54310712200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice CQuestion

Find the correctly spelt word out of the four given words:

Options:

N Perjary

- Perjury

-z Parjury

4 Perjery.

General Knowledge and Current Affairs

Section Id ; 543107179
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 75
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 543107232
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 54310712201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The “Black Box’ of an aeroplane is of -
gaTS SIETST &1 soleh a1Fd gidT -

Options:
Orange Colour

1 I I
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Black Colour
o T T3

White Colour
5 HG T

Green Colour
4 BO T

Question Number : 32 Question Id : 54310712202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

What is hydroponics ?
alsIaIfyery =T g —
Options:

Study of soil
1 THEY &1 3regTeT |

Plant without soil enrichment

, e i B S sravasar w8 B

Soil Conservation
5 fHET Famor

Plant with vegetables.

, afesrr & @ diy

Question Number : 33 Question 1d : 54310712203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

With reference to micro-irrigation, which of the following statement is/are correct?
A g & g A Pefaf@d & ¥ sl qv9 Fawor af & -

(i) Fertilizer loss can be reduced
e & &9 N FA fHAT I dFHaT &

(ii) Iisthe only means of irrigation in dry land farming

UsF HA Fr EN A 7 v A7 g w7 oA §

Select the correct answer using the code given below-

;ﬁ?mmﬁEHmm??@rmgﬁr—

Options:
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i only

, Hdel |

Both

, el
il only
e i

=

None

| #

Question Number : 34 Question 1d : 54310712204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question

Match List | with List Il and select the correct answer from the codes given below:
ol | &7 et 1 @ e &Y 3R A QT are #is F @ | Seo) & g
List | ¥ List Il g=hil

(a) Growth in Food Production (1) Green Revolution
e Icamee H ghg gRd ifd
(b) Milk Production (2) Blue Revolution
g 3eTe aitell ShIfH
(c) Fisheries (3) White Revolution
HGOT qTole wdd Hifa
(d) Fertilizers (4) Grey Revolution
3aH T Wil
Options:
A B C D
11 3 2 4
A B C D
5> 3 1 4 2
A B C D
5 2 4 3 1
A B C D
3 2 4 1
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Question Number : 35 Question Id : 54310712205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following pair (battle during the Mughal and Maratha period and its
year) is correctly matched?

fAeAfaf@d & & &l a1 Ser (gerer AR #@wer 3Ef & el ¥g 3R 5% av)
ger ¥ ¥ f&ere @rar g

Options:

Battle of Chausa - 1538 AD
| dter & g . 1538 3.
Battle of Kannauj - 1539 AD
. Shooilal &l I8 - 1539 &,
Battle of Haldighati - 1576 AD
5 EooIEdr & Ig - 1576 8.
Battile of Khed - 1699 AD
, U FIg - 1699 8.

Question Number : 36 Question Id : 54310712206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Which of the following statements are correct?

frafefEa # & Fi9 ar 3= @8 &
(i) Ahmad Shah Abdali fought the third battle of Panipat.
HEHE AE eCTell o IATdd HT T g 3T oA
(i) Babur established the Delhi Sultanate.
aTe o fewell Fodera & warder #r A

(i) Jahangir was a lover of beauty and nature.

STl Feexar I g $T W o

Options:
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Lii and iii are correct
) Liit A iii T@Er g
iii only

5 ol il

i only

5 had |
ii and iii only

4_31?!?{&3-1'!?';&

Question Number : 37 Question Id : 54310712207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Duncan Pass is located between —

Sopet arE T T Reue & -

Options:
South and Little Andaman

, Af&ToT 3R oY 37sATA

North and South Andaman
> 3ca¥ I gferer 3sA=

North and Middle Andaman
5 3ol 3N AL 3HSAT

Andaman and Nicobar

4 3T3AE 3R PR

Question Number : 38 Question Id : 54310712208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion
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Which of the following Commission was appointed by the Central Government on
union-state relation in 19837

FET TR caT 1983 H HY UsT WeY U &l @1 AT aifsa far aram
ar?
Options:

Sarkariya Commission.

1 FCRTIET 3TEET

Dutt Commission.

o Ged 3T

Setalved Commission.

5 Hrdefdrg 3rarer

Rajamannar Commission.

4 TSTHA 3T

Question Number : 39 Question Id : 54310712209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Cuestion

Who founded the “Naujawan Bharat Sabha™ ?
"sAleTaTel HRA T Hr TUTe fohded &hr 2 ?

Options:

Chandra Shekhar Azad
1 AW HTTE

Surya Sen
o, THHA
Bhagat Singh
3, HII g

V.D.Savarkar
4 @r 3 \@EE

Question Number : 40 Question 1d : 54310712210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

A person with diabetes mellitus does not secrete :

M TR e & KR F GTad T e & -

Options:
Insulin

, Fgre

thyroxin
o ATSRIfda
glucagon

S.E

growth hormone

4 A BEE

Question Number : 41 Question Id : 54310712211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

When is the National Youth Day celebrated ?
USErT gar feaw Fa Aaran S § ?

Options:
January 15;

1 15 Setadt

January 9;
> 9 STeAadr

January 18;
3. 18 ATy

January 12.
4 12 Sferadl

Question Number : 42 Question Id : 54310712212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
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Cnaestion Label - Multiple Choice Question
The Study of population is called:

FAHEAT HETTT Feolldl & —
Options:

Cartography;
. FICETH

Anthropology;
2, RIS

Demography;
3. SHTATHT

Biography.
4 ST

Question Number : 43 Question 1d : 54310712213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Name of the longest lake in India:

T # gad o e & -

Options:

Pangong Lake;
1. FTT e

Pulicut Lake;
o Jie it

Kolleru Lake;

3. Plcel® el

Vembanad Lake.

4 dFETATE e

Question Number : 44 Question Id : 54310712214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion
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I he Oath ot Office is administered to the Governor by the:
TsguTel & fhad ganr oy fGemg ondr & -

Options:
Chiet Justice of India;

l_mﬁé?ﬂwﬂrrmmr

Speaker of Legislative Assembly;
o faure @8 &1 TR

President;

S.EIEHIE

Chief Justice of High Court.

, 3T FAIEY F HEd Fararefter

Question Number : 45 Question Id : 54310712215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Who translated ‘Mahabharata’ into Persian?

HETART ol BIET A 3ejare fhas fEhar ar-

Options:
Ibn- Batuta;

1. E

Abdul Fazal;

Question Number : 46 Question Id : 54310712216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question
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Central Government has formed a new ministry by merging the erstwhile ministry
of water resources and Drinking water and Sanitation. What is the name of the
new Ministry?

FET WHER A dcdhlelld ool TEYS AR IIoTel (aq Taeodl AAed & Aeg
Fh Uch o1 HIATAT T4l & | AT HITAT T T 17 ¢ ?

Options:
Jal Purti

STerq ol

1. B

Jal Sanitation

Eaﬂ'ﬁﬂ?ﬂ

Jal Shakiti
5 SFerfFd

Jal Sudhan
4 STeTEo

Question Number : 47 Question Id : 54310712217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

In the French Open Tennis Tournament held recently in Paris, Ashleigh Barty won
her maiden grand slam title. She is from which country?

e & A 9E 7 3afag vy 3w cRw gfgafar & 3mear odf & sruen
UEolT 3T T &1 @ae siar Eiag FE S fr g2

Options:
France

l_FﬁTH

Australia

o 3rEeTerar

Belgium

5 dfcadH
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ltaly.
4 FCol

Question Number : 48 Question 1d : 54310712218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Who appoints the Chief Election Commissioner of India ?

YRd & &4 g9 Argeh & FrgRe $I9 &xar g ?

Options:
President

l_mgtlfa

Prime Minister

> TETIHAT

Parliament
2 HEg

Chief Justice of India

4_ﬂ'ﬁﬂaﬂg@w

Question Number : 49 Question Id : 54310712219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

World Environment day is celebrated on June 05 worldwide. What was the theme
of world Environment day this year?

faea gatavor fGaw @ faeg & 5 S &t Harar sar 81 36 a¥ @ gafavor
G| &1 fawT F=2r ar-

Options:
Air Pollution

arg 9eyuT
1. o2 a

Clean India
-, EqTG M1

Plastic free India
=3 2
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one world, one Environment

4Ua:1%aa,umcra‘raw

Question Number : 50 Question 1d : 54310712220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

What was the code name given by Indian Air Force for February 2019 surgical
Strike on Balakot?

mﬁzmeﬁmﬁwﬁaﬁawwwﬁwa@ﬁmm%m

ITGT IS ATH FAT AT-

Options:
Operation Bandar

1 HTIRIA &gl

Operation Delhi
, TR Reeh

Operation Khan
5 3T @Ted

Operation Hero

4, 3R 2R

Question Number : 51 Question Id: 54310712221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

Which is India’'s fastest train?

T # G99 O 7fd & T arell YomET it 91 7

Options:
T-18
, &r-18

Rajdhani
o AT
Vaishali
GHIET

=3
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Gomati

4 AT

Question Number : 52 Question Id : 54310712222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which politician has received Seoul Peace Prize 20187

ﬁmﬁf@ﬁﬁﬁmmﬁﬁﬁﬁmma%%ﬁﬁwwﬁmg—

Options:
Donald Trump
, Siedes gFg

Narendra Modi

E_ms—am

Vladimir Putin

| CONTCHR gicde

Emmanuel Macron

SHATAHDI

4.

Question Number : 53 Question Id : 54310712223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Who is the first women full time finance minister of India?

HIT & 9gei qUT Fifers Afgem Peadwdt Fia § 2

Options:
Smt. Indira Gandhi
. Aradr sfew amed

Smt. Sushma Swaraj

2. TH E_-rl T el

Smt. Nirmala Sitharaman

5 AT Ao diaAer
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Smt. Sheila Kaul
4 ArHAT e wte

Question Number : 54 Question Id : 54310712224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

Which of the following is a method of heat transfer?

Arafaf@a & & Fi9 ar ST IFA0T FT T JUa 872
Options:
Evaporation;

IcHST

1.

Convection;

2. Ei S

Revolution;

5 GIGRATT

Thermal Expansion.

4 ATHITTEN

Question Number : 55 Question 1d : 54310712225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Which Indian holds the record of playing the highest number of football matches
from Indian Side?

fArfaf@a & Fe Was § 99 9Rd & @ & TG99 IJ0F Peae A
ol &1 s 87

Options:

Anil Dev
1.3 el o

Ashok Kumar
2. mﬁ? 3



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Sunil Chhetri
39 ﬁ

B. Bhutia

o BRI

Reasoning Ability

Section Id : 543107180

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 23

Number of Questionsto be attempted: 23

Section Marks: 72

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 543107233
Question Shuffling Allowed : Yes

Question Id : 54310712226 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (56 to 57)
Cnaesticn Label - Comprehiension

Directions — Read the given information carefully and answer the given question.

fader- & 7§ gaar f yaegds g2 A#R R v gwwt #1 o3 &)

Point N is 8m to the west of point O. Point P is 4m to the south of point O. Point Q is 4m
to the east of point P. Point R is 6m to the north of point Q. Point S is 8m to the west of
point R. Point T is 2m to the south of the point S.

fag N, fog O & aRgw & 8 A | &) g P, fig O & gfétor # 4 Ay W 81 g Q,
figP& 9@ #4 Ay W &I g R, g Q & 3dX # 6 Aex w BIfdg S, Mg R &
ufReH A8y W gl fag T, Mg S & cfetor 7 2#ey €T 8

Sub questions

Question Number : 56 Question 1d : 54310712227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

How far and in which direction is point T from point N?

foig T,foig N & e feem & 31X fohceit g & 2
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Options:
4m to the east

4+t q@ #

1.

8m to the west

5 8 HIEY ufdgHq H

4m to the west

3_43%?&1‘?5‘:19?3#

6m to the east

4_6#%?\1&3%

Question Number : 57 Question 1d : 54310712228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

If point T is 4m to the north of point E, then what is the distance between E and Q7

afy Rig T, g E & 47T oF 3a€ & & o B3R Q% & 31 gff 7ar 32

Options:

1 11m/ARY
- 8m/HreT
5 15m/HeT

4 5m/#HeT

Sub-Section Number: 2
Sub-Section I d: 543107234
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 54310712229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

If 2 boys and 2 girls are to be arranged in a row so that the girls are not next to
each other, how many possible arrangements are there?

Ifg 2 o8 3N 2 oTefhdl FI Tk Uldd H 39 odig qIaieydd a1 JTdar § difh
TefHdl U gEY & 9Tl A A8 §, A1 98l W fFda @nfdd aaaaar w7 87
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Options:

2

12
3.

24

Question Number : 59 Question Id : 54310712230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

How many numbers are there between 99 and 1000 such that the digit 8 occupies
the units place?

99 3T 1000 F &g 3= arell H@AHT H 8 & FEA SHF5 & WH W fFdar
IR 3 &2

Options:
1, 84

4 104

Question Number : 60 Question Id : 54310712231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

A bag contains 20 balls. 8 balls are green, 7 are white and 5 are red. What is the
minimum number of balls that must be picked up from the bag (without replacing
any of it) so that at least one ball from each color is drawn?

v For A 20 afct g1 397 T 8 it g W1 Y §, 7 The W1 Fir 3K 5 orer T1 fir
gl ¥4 A7 (Toenm 8 afa &1 acd) 7 ¥ 57 Fae! 9id 3813 v afs Tds
1§ TF T Aad &9 & gy 7 H70?

Options:
1 17



https://applink.adda247.com/d/XhqWf9lSap

Adda247

- 16

13

11

Question Number : 61 Question Id : 54310712232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice CQuestion

Examine the following statements:

Fraafaf@a syt & afemor w1
1.  All colours are pleasant.
Tl o1 gerae g
2. Some colours are pleasant.
o W1 gerad gl

3. No colour is pleasant

FIS o L1 geraem el

4. Some colours are not pleasant.
$C T Feldel el ¢l
Given that statement 4 is true, what can be concluded?

I8 A g9 fF FU—4 Wel & o1 1 fpy fAsren a1 dhr & ?

Options:
1 and 2 are true

 132aEd

3 is true

> 3WE E

2 is false
5 2797d §

1is false
4 17107d gl

Question Number : 62 Question 1d : 54310712233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion



https://applink.adda247.com/d/XhqWf9lSap

Adda247

T"-2re are some nectar filled flowers on a tree and some bees are hovering on it. If
2 bee lands on each flower, one bee will be left out. [f two bees land on each
flower, one flower will be left out. The number of flowers and bees respectively are:

Uh GaT W T AY ¥ M §C G § N 390 W & AYAFEA #AsT T ¢
e IS ol W T AYARG! docdl @ o Ush AYASE! 991 X8 S g1 I ar
AYATEA TP Tl W docdl §, T Bl 99 SA1ar gl Geil I AyATFast
$I TEar FAU: B-

Options:

2and4
, 2 3T 4

3and 2
> 332

3and 4
- 334

4and 5
4 43T5

Question Number : 63 Question 1d : 54310712234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

Reena travelled from point A to a distance of 10 feet East at point B. She then
turned right and walked 3 feet. Again, she turned right and walked 14 feet. How
far is she from the starting point A?

¥ o g A & 10 e g # fag B &1 amr #1) a8 F@f ¥ @festt 3R A7
3R 3 e Tef| 91 3 afeelt 3R 14 b =l a5 aer g A & et g3 7

Options:

. 4 feet/The

> B feet/fthe

5 24 feet/fthe

. 25 feet/Tthe

Question Number : 64 Question 1d : 54310712235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
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Cnaestion Label - Multiple Choice Question

There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,

three brothers and a mother in the group, who is E's husband?

o: afed ABCDEINRFE | C, F#r 987 g1 BE & ofd &1 15 81 D, A &1
ar 3R F &r arer 81 w6g # & Nar 8, i s § 3R v Aar @1 E & 9fa
HleT 87

Options:

Question Number : 65 Question Id : 54310712236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Direction: In each of the following questions, a series is given, with one term missing.
Choose the correct alternative from the given ones that will complete the series.

frefaf@a gods W6 & U s@er & I Bl SHA U e oud & A fou e
et & @ # & ged X dife Ao g g Sl
ELFA,GLHA,ILJA, , MLNA

Options:

. OLPA
5 ILMA

3. LLMA

, KLLA

Question Number : 66 Question Id : 54310712237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question
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Direction: In each of the following questions, a series is given, with one term missing.
Choose the correct alternative from the given ones that will complete the series.

fAFAfI@T Jads W & UF s@en & 75 B $HA UF A o4d gl Arg Qe o
et A @ H8 &1 gt Y difes s@or gt g S|
4,1848, 180

Options:
1 105

> 80

3125

4 100

Question Number : 67 Question Id : 54310712238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If ‘P" denotes ‘multiplied by, ‘T" denotes ‘subtracted from, ‘M’ denotes’ ‘added to’ and ‘B’
denotes ‘divided by, then what should be the correct response of 12P6M15T16B47

afe P a1 3 aom, T & 38 gerd, M & 39 Sig 3R B &1 3 aeT €, o e
HEr I T grem ?

12P6M15T16B47
Options:

. 83

5 19

- 88

125

Question Number : 68 Question Id : 54310712239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion
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The question given below has some statements followed by some conclusions.
Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the
given conclusion logically follows the given statements.

ffaf@a ae & $o $99 e 71w § qur 38 aie Fo foasay v 1w §)
A PN Ted Al U I F 3HAR T AT T8t § Wt yefd &1 Fa
&, fou v sl &t eae qaw 96 aur IE ghivad & Sl @ femr
frsrd T a0 FUF & U WE B -
Statements/ FY=:
Some boxes are triangles
$G Heh [FhI0T §
All spheres are triangles
Tt el T §
All circles are boxes
ol g HeF @
All triangles are quadrilaterals
Fefr BT Tl Bl
Conclusions/faysy:

i)  Some quadrilaterals are boxes
$ TS g &

i)  Some quadrilaterals are triangles
FO TP HHIoT T

i) Some triangles are spheres
Fo FHor T g

iv)  No circle is quadrilaterals

FIg 1 dd TS el ¢

Options:
Only i follows

, HacdiGE 8§

Only ii follows

> ael I 98l &

Only i, ii and iii follow

3 adl i, i 3 i w81 8

Only iii follow

4 hadliii GE &

Question Number : 69 Question Id : 54310712240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

From the given alternative words below, select the word, which cannot be formed
using the letters of the word 'Suspensefulness’.

ffofed wa & R av @Few wsl @ tar wsg gd S
'Suspensefulness’ 2reg & & T TATT Fleh Al FATIT ST Hhdl-

Options:
1 Sense

> Fuels

= Useful

4 Fullness

Question Number : 70 Question Id : 54310712241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What replaces question mark (?) in the series given below :
e Y N gEar # yearas g (?) S o8 41 80

88, 64, 24, ?

Options:

; 8

Question Number : 71 Question 1d : 54310712242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question
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The question given below has some statements followed by some conclusions.
Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the
given conclusion logically follows the given statements.

ffaf@a ae & $o $99 e v § qur 38 aie Fo foasay v 1w §)
FUA F TI AT §C JeI T HHAR R AT Tt § et wefd &1 Tl
&, fer v sl it eaer qaw 96 aur IE ghivad w & Sl ar e
frsed foT a0 oA & IgeU Wl B -

Statements:

faazor:

.  Some pens are pencils
Fo U 4R §

ll.  All pencils are erasers

oft Offer T &

Conclusions:

.  Some pens are erasers
$O U T ¢
ll.  No pens are erasers ‘

FE 9 WY G &

lll. Some erasers are pencils

$ W 9 €

Options:
Only conclusion (ll) is correct

, Faa fasay (1l) 9E &

Only conclusions (1) and (Il) are correct

o> Faer sy (1) 3T () 981 &

Only conclusions (l) and (lll) are correct

5 Faer sy (1) 3R (1) |81 &

No conclusion is correct

4 15 fsmy 9e a8 §

Question Number : 72 Question 1d : 54310712243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

In the given figure, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

fArAfaf@ad wa A7 fGu arv et & @ 0l wewr g7 o 9 g () &
T W @ ST Th?

3 4 2
2131 1 2 1145| 6 117217
5 3 5
Options:
1 43
- 49
5 99
4 71

Question Number : 73 Question Id : 54310712244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

How many triangles are there in the given figure?

& a8 Il A e Berar 87

Options:

20
1.

22
2.

28
3.

32
4,
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Question Number : 74 Question Id : 54310712245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

Three positions of a cube are shown below. What will come opposite to the face
containing ‘I'?

A g fr de Rufaat & o & 1 Tala @ & Far e ?

Il 1 W

m Vi

Options:

. VI

Question Number : 75 Question Id : 54310712246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

In the given figure, how many pens are blue?

& a1 e ¥, Reaer Ay U9 ¥

Black
cBIcil
13
o % Pen
i —TIol
11 19 12
[ 16\
: =
Blue siler
Options:
1 23
> 19

5 12
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4. 15

Question Number : 76 Question Id : 54310712247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

If a mirror is placed on the line AB, then which of the answer figures is the right
image of the given figure?

Ifg T U AB I@N 9T @I ST § o $isd @ Scal HiPpled &F T8 IHehfed
#T ger ofd gref?

Question figure: - T3 ica

|

©
©
3 é
4

Question Number : 77 Question 1d : 54310712248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Identify the odd one
g7 H HEH 3ol Sl Oic-

Options:



https://applink.adda247.com/d/XhqWf9lSap

Adda247

. ZAYB

> TSGH

3. XCWD

, VEUF

Question Number : 78 Question 1d : 54310712249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question

The two hands of clock will make nearly what angle at 6.20 a.m.?

Us g3 & & FHie Hag 6.20 9 FE 0T & e ghe-

Options:

1_?5

5 70

- 60

, 45

Question Number : 79 Question Id : 54310712250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

An integer with positive sign (+) is always greater than

UATcHS 8 (+) % A1y U qUith gAM q9T @ 872

Options:
1.0

Cantitative Aptitude

Section Id : 543107181
Section Number : 4



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 78
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107235
Question Shuffling Allowed : Yes

Question Id : 54310712251 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (80to 81)
Cuestion Label - Comprehension

Directions: Study the given information carefully and answer the
question which are based on it.

fader: & 1% gaar 1 eaegde 9¢ AT $H 9v ImuRd 9 & el &

The rainfall (in mm) in a city on 7 days of a certain week was recorded as follows:

& e A fAud geae &7 Ba fr ad (A A) efafaa oo fr s

Day/ Mon/ Tue/ | Wed/ | Thu/ Fri/ Sat/ Sun/
fest g, HaTel. . 3. 2H. arfey 4.
Rainfall/ 10
0.0 12.2 2.1 0.0 20.5 5.5 :
ast
Sub questions

Question Number : 80 Question 1d : 54310712252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

Find the range of the rainfall in the data.

grer & aur $r & (range) SATT
Options:
N 10.5

> 12.5

3 20.5
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4 13.5

Question Number : 81 Question Id : 54310712253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Find the mean rainfall for the week

HTATg &Y g9l &7 HTET (mean) 410
Options:
1. 5.9
> 5.0
= 5.5

4 4.5

Sub-Section Number: 2
Sub-Section 1d: 543107236
Question Shuffling Allowed : Yes

Question Number : 82 Question Id : 54310712254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

If least common multiple of two numbers is 225 and the highest common factor is
5 then find the numbers when one of numbers is 257

i a1 HEA3 F1 ~gAdA WHAT 0Tl 225 AR ITaad @A FRE 5 §
afe UF FEAT25 8 df g@dl {EAT T 9T H:L?

Options:
1 75

> 65
2 15

45
4,

Question Number : 83 Question Id : 54310712255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
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Cnaestion Label - Multiple Choice Question

A man goes to Mumbai from Pune at a speed of 4 km/hr and returns to Pune at

speed of 6 km/hr. What is his average speed of the entire journey?

wmgﬁﬁgmédm.mﬁﬂa#mﬁmm%mmgﬁem

gl =er #r a1fd § 37T &) 3Fr i I dr e Al F4r 87

Options:

1 4.8 km/hr fRaufager
> 5 km/hr feFHafaeer
5 4.2 km/hr fEAwfaeer

4 5.6 km/hr frsftufager

Question Number : 84 Question Id : 54310712256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Ramesh's salary was reduced by 10% and then the reduced salary was increased

by 10%. What was his ultimate loss?

AU HT AdeT 10% A Far srar & 31K g« magu&dﬁﬁﬁm%aaﬁmm

¢ o S9 gg JHu fEaq ufaea g 2

Options:
1 0%

, 10%

3. 1%

4. o%

Question Number : 85 Question 1d : 54310712257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Two numbers are less than a third number by 30% and 37%, respectively. By how

much percent is the second number less than the first?

ar FEa el JEr @ HAEU: 30% X 37% HH &1 TN WAL, ggell H Jol

Hfea ufaea s & 2

Options:
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L 7%
» 10%
- 4%

4 3%

Question Number : 86 Question Id : 54310712258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label | Multiple Choice Question

An agricultural field is in the form of rectangle having length X1 meters and
breadth X2 meters. (X1 and X2 are variables). If X1+X2=40 meters, then the area
of the agricultural field will not exceed which one of the following values?

TF OF NTAHER ¢ 3T aears X1 #re 3k gerd X2 e § (7 X1 dkxe
gitadeeiter §) IfE X1 + X2 = 40 #Hex & aF ©d #7 &avd Fefafag 3§ 9
feg der § 39+ 787 & g&anr

Options:

, 400sqm gatHTex

- 300 sq m FHARY
- 200 sqm gAY

4, 80sq m adtHreY

Question Number : 87 Question 1d : 54310712259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

A jar contains a mixture of 2 liquids P and Q in the ratio 4:1. When 10 litres of the
mixture is taken out and 10 litres of the liquid Q is poured into the jar, the ratio
becomes 2:3. How many litres of the liquid P was contained in the Jar?

TH S #H 2 et 9erdf P 3R Q & 411 F 3gard & Aaor g1 519 10 #hex
0T I & SFrem srar £ 3N Q 7 10 ey Ot B a) # Fromar Sar &
ar 39T 2:3 81 ST &1 SR # P &l fhdel ofiey ol gare ur?

Options:

17 litres #TeT
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0 16 litres &eT
- 14 litres @i1eY

) 15 litres oleT

Question Number : 88 Question Id : 54310712260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

P works thrice as fast as Q, whereas P and Q together can work four times as fast
as R. If P&Q and R together work on a job, in what ratio should they share the
earnings?

P, Q@ e 7om dsf 14 FXm § o 1 P 3R Q gl Ao R @ IR apom
s # & H@hd ol If6 P, Q 3R R ¥y et &9 &1 ¢ df 3= aisfas
g 3o & fAeram?
Options:

S0 1

1

Question Number : 89 Question 1d : 54310712261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice CQuestion

If1.123 x 3.211 =3.122 + , then the number in blank space is
W& TA2IWIT = 122 4 il wrelr T & SIF A1 FEar 3meaf|
Options:

0.483
1

0.0483
2,

4.083
=



https://applink.adda247.com/d/XhqWf9lSap

Adda247

4 4.0083

Question Number : 90 Question Id : 54310712262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

If% of A=75%0ofB=060fC,thenA:B:Cis

afg1/30fA=75%0fB=060fC,dd A:B:CHF HT &

Options:
; 4:5:9

2_5:221:4

9:5: 4

Question Number : 91 Question Id : 54310712263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

A train crosses a platform 100 m long in 60 s at a speed of 45 km/h. The time
taken by the train to cross an electric pole is

T T9mst 100 HeT o« Colewm & 45 fhaAr ufa ger & aifad 60 /. 7 9K
FLAl &1 T fastell & @Fd Ff 9 & H fohdar a7 @ emn?

Options:

. 8 s/&s
, 52 s/H&3
5 1 min/ feie

4 40 s/H&HeE

Question Number : 92 Question Id : 54310712264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question
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If the price of the cooking gas is increased by 15 %, by how many percent should
a family reduce its consumption so as not to exceed its budget on cooking gas?

gfg @ g fr g i g 15% g T ar T 9ER 399 @i g9
Fr g fr @ug Fr Faar wfAwd &7 FL afF 386 @A 9F = g F
g9ic el d¢7

Options:

, 14%

13 %
2.

17 %
=3

1319,
4 =

Question Number : 93 Question 1d : 54310712265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

is

| =
&= | Ln

The difference between the smallest and the largest fraction among % :

4

15,

3/2, 1/5, 4/3, 5/4 & ¥ Fa9 oI 3 gag a2 Fsat & &g 37av T g2
Options:
, 1278

, 13/8

. 13/10

4_15,‘10

Question Number : 94 Question Id : 54310712266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

If the cost price of 9 pens is equal to the selling price of 11 pens, then what is gain
or loss percentage?

Ife 9 97 & o Hed 11 U & 9ol 7od & §AE g af fohaa gfderd ot
3rar gy gren?

Options:
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. 22%
> 25%
, 18.2%

4 16%

Question Number : 95 Question Id : 54310712267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

The average weight of 8 persons increased by 1.5 kg when a person weighing 65
kg is replaced by a new person. What could be the weight of a new person?

A9 Us 65 fHhalanyg g3d & cOfad & 98 Us a1 <aidd H1ar ¢ or 8
cufaaal &1 3itag gt 1.5 .. searare| a0 safea &1 g #4971 &7

Options:

, 75 kg/fRam.

, 82 kg/Teh aT.

5 77 kg/fe.am.

4 70 kg/feb.am,

Question Number : 96 Question 1d : 54310712268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

Two taps A and B can fill a cistern in 12 min and 16 min respectively. If both taps

are opened together and at the end of 4 min, B tap is turned off, then how much
time will it take to fill the cistern ?

ar 7 T 3ix & v & 1 FAw: 12 Aae 3R 16 B & w &g & SEr
A T 1Y @ief S & a9 4 e a1 o &f & d¢ #&) &ar Jar g1 79
3R forasr @ # <dhr qf sele?

Options:

. 8 min/fA=T

> 10 min/fA=e
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2 5 min/fA=¢

4 1 min/f&=e

Question Number : 97 Question Id : 54310712269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

A sum doubles in 20 years at simple interest. What is the rate of interest?

HTYROT &A1 ¥ TX U AR 20 3§ 7 g & el &1 sarst ax & § 2

Options:

. 5% per annum/gfaad

> 8 % per annum/gfaay

5 5.5% per annum/gfaas

4 8.5 % per annum/gfaay

Question Number : 98 Question Id : 54310712270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

The average of 11 observations is 60. If the average of first five observations is 58
and that of last five is 56.,the sixth observation is

11 3Mearided &1 3itaa 60 &1 e w2 99 deaays & 3itaa 58 § 3k
iaw ot &1 IEa 56 § O @O dNTeaa= g-

Options:

. 90

110

85

100

Question Number : 99 Question Id : 54310712271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
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Cnaestion Label - Multiple Choice Question

Each member of a picnic party contributed twice to their serial number. The total

collection was Rs 3042. The number of members present in the party was

T Upfeid aidl & 9cds HGET o O HH HEAT 1 g AU g e

A Fd TG 3042 F. AT| Uit A R ST 9Py 97

Options:
1 2

5 32

- 42

4. 39

Question Number : 100 Question Id : 54310712272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Two men start together to walk a certain distance, one at 4 km/h and another at 3

km/h. The former arrives half an hour before the latter. Find the distance.

& cafed wh @y vE AT gt i Imm % X 8| U 4 A gfa moer
afd @ a3 .4 gfa guer & 1fd || ggen afFd qal | 34T gUer ggd

TR § A g F-

Options:

1 6 km/fs.AT.

o 9 km/R. A,

3 8 km/fe.#T.

. 7 km/f.a.

Question Number : 101 Question Id : 54310712273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

On selling an article for Rs 264 a man loses 4%. In order to gain 12%, find the

selling price of the article.

U ATFd Hl UF & 264 & A 99 9T 4% Hr gifel gt g1 12% ey gred

& & forT avg #1 fohr Hog aare-
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Options:
) Rs/¥. 300

Rs/%. 310
2.

2 Rs/%. 295

4 Rs/%. 308

Question Number : 102 Question 1d : 54310712274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

out of %/4, <2, 53, */5 which number is the biggest?
34,2, 543, "5 g7 d & Sl O TEIT T 31 8?
Options:
1 4

2. 4-'1"5

Question Number : 103 Question Id : 54310712275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

A cube of 25 cm side is divided into 125 smaller cubes of equal volume. Find the
side of smaller cubes :

25 AT YOIl 9Tl U o9 I WA A1 & 125 8IS w4l § fquifora foam wwan
21 BIC "4l &1 ol & -

Options:

. 2 cm/AHl

23cmf'?ﬁﬁ

5 cm/WHT

=
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, 6 cm/THT

Question Number : 104 Question Id : 54310712276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Rs. 5625 is divided among A, B and C so that A receives one half as
much as B and C together receive and B receives one-fourth of what A
and C together receive. The share of A is more than that of B by:

5625 T FMAB IR C & &g =7 IR foenfoa fFar v g AR B 3R C
(Teh Q1Y) I Jelall H AT 9IS 8T & 3R B & A 3R C (T @ry) & Jofem 7
T TS wied gt &1 AS REET B ¥ &aer 3fee

Options:

Rs. 750
. 750 T

Rs. 775
> 775%9Y

Rs. 1500
5 1500 ¥4

Rs. 160
4 160 9

Question Number : 105 Question Id : 54310712277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If A mean +, B means '-', C means 'x', then find the value of following equation :
gfg A &T AddId <, B &1 Adad ', C &1 Hddd X' &, o fr=ifafaa @Hiaor &1
A ST BN

46A2B3C4="7

Options:
34
1
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23

17

11

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions;

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section 1d:

Question Shuffling Allowed :

EBasic Cormputer Enowledge

543107182
5

Online
Mandatory
15

15

45

Yes

No

1
543107237
Yes

Question Number : 106 Question 1d : 54310712278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice CQuestion
Documents, Movies, Images and Photographs etc. are stored at a:

erardd, A, @9 i wie e e v e ag &

Options:

Application Server

lmﬁmﬂﬂ?

Web Server
, 99 FHR

Print Server

5 e |@av
File Server

o TS H
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Question Number : 107 Question Id : 54310712279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

RAM consists of which of the following?

rRam H farafeaf@a & & w7 anfae g2

Options:
Conductor

| ST (ATTD)

Semi Conductor

. 3T FEFcT (€ ATAD)

Vaccum Tubes
5, dFgH TS

Transistor

4 SIforEex

Question Number : 108 Question Id : 54310712280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

What do you press to enter the current date in a cell of an MS Excel sheet?

THUH. TR 3 & Ao & gaA- Aaf gof v & o 39 Far g &

Options:
CTRL + ; (semicolon)

, CTRL +; (3reifawr#)

CTRL + : (colon)
, CTRL+: (SheleT)

. CTRL + F10

. CTRL + F11
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Question Number : 109 Question Id : 54310712281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

How many bytes are there in a terabyte?

U eETse H fFaa e gla g7

Options:
1000

1 1000

1 billion
> 1 fafes

1 trillion

_J.ﬁiﬁ%tﬁw

=

1 million

4 1fAfegs

Question Number : 110 Question Id : 54310712282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

Which of the following is an electronic or paper log used to track computer activity?

Fegey afafafe &t do ata & fav Arfaf@d 7 @ Fis a1 gaeeifas ar duy afr g2
Options:
Audit trail

Monitor

Aiferet

2.

Trace route

5 S A

Cookies

FHehof

4, e
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Question Number : 111 Question Id : 54310712283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Micro Processor speed is measured in—

AT wrEay i ot e andr e g2

Options:
megabytes

HAMETECH

1.

gigahertz
afremgd ot

2. i

kilobytes
3, TS

gigabytes
4, Mammarge

Question Number : 112 Question Id : 54310712284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cnaestion Label - Multiple Choice Question

Which of the following prints the best quality graphics?
et & & i Fad IS Auracar arel Ik BT VUG T 67

Options:
Plotter

L=l

1

Laser printer

o elot e

Ink jet printer

3_5.'*553{3?&?:1
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Dot matrix printer

437?#3@%

Question Number : 113 Question Id : 54310712285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

What does the acronym PDF stand for?
aferea s & & QR A #2487

Options:
Portable Documenting Format

| OETd sTeFgARET BiHe
Portable Document Format

o NETH GEATIS TTEY

Portable Documentation Format

5 DT Tl UIey

Portable Documentation File

, e Sl Wige

Question Number : 114 Question Id : 54310712286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label - Multiple Choice Question

A computer virus can not cause—

FTST aH & IRUTATIET AT Bidl-

Options:

Disk Crash
, 25 &1 SraEm

Mother Board Crash
, FEX STS T HRIEIAT
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Corruption of program

SIWWWW

Deletion of files

4_.tﬁlg'a"ra?rfa?»ﬁ?:'ﬁrﬁfﬁ'r

Question Number : 115 Question Id : 54310712287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice CQuestion

Which generation computers are built with microprocessors?

AT TR gaa el 59 9l & FEdnd 82

Options:

third generation

|l O

fourth generation

, aeh O &

first generation

5 el 9Igr &

second generation

) gadt didr &

Question Number : 116 Question Id : 54310712288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice CQuestion

How to specify cell range from A10 to A 25 in MS Excel?
THUY. Tl # A10 8§ A25 & da 3o &8 [Afdse &

Options:

, (A10.A25)

, (A10-A25)
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- (A10 to A25)

, (A10: A25)

Question Number : 117 Question Id : 54310712289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cnaestion Label  Multiple Choice Question

The ALU and Control unit, are jointly known as—

ALU 3R fioT SISl g §9 & ST el 2-
Options:

RAM

Question Number : 118 Question Id : 54310712290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

119. Which of the following is not a function of the control unit?

farafafag & @ #ia Baavr s & 519 J81 82
Options:
Reading instructions

lﬁ%’:?rtrﬁ

Executing instructions

, gt @ aree



https://applink.adda247.com/d/XhqWf9lSap

Adda247

Direct operations

5 WCHET HTel

Interpret instructions

, fdei i carear Y

Question Number : 119 Question Id : 54310712291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

What is the storage area for email messages called?

$Ae T2t & forw sEmoT 819 &1 FHgerdl &2

Options:
folder

| Ples

directory

hard disk
, @S e

Question Number : 120 Question 1d : 54310712292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice CQuestion

Programs such as Mozilla Firefox that serve as navigation windows into web are
called—
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Options:
Internet

. FERT
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